EARAROBEEIERT — 2 N— IBISH —F

201352A7H (K) 11EI#HE4H

PRl & 7% 3m® 317 L5 2hKE

(xwlw | mEmml - |5 5 o s

[A&E£] 17 :1,200,000  ~ 23 :360,000 37&:216,000 3

4 75 144,000 B 5 3& :120,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
4 3 | EEHZ 1:16.7 1-1-1 4.0 — 1 487 | FEMIETE (AR4E)
1Y 3| v— r~—H— 56.0 =) (1) | EEEE "
L:A—K7I74% B:F54MZ510F AFO &
5 4 3 | HFEA 1:16.8 4-3-2 |39.8| — 2 454 | WAZ (A34E)
2 9| ZNVFr—7 54.0 (1/2) (+9) | ) 77> FHus
R:YZZRE—3I=ZRE— B:¥v—/NY VAN ¢
4 3 | KEH 1:17.1 3-3-5 40.1| — 7 452 | KEHEE (IB1E)
3 W 8 HF/ AT —-X 56.0 (11/2) +1) ‘EiEEE
NI4T BiN=-N=F 4> KI5
_ 5 BHEAH : -7~ — EEH (fafg)
N BIEEE A% L e Y | xEEs
24 THhI— B:T757-var 1EE BT
o gy 7 11 3 — )
5155 NTATUY— b 8BS A I ° LS =i
27— bhA¥— B:E1-LTL-I BER B
IS A 4 3 | EEfE— 1:18.2 7-6-7 | 40.8| — 5 401 | MREA (AntE)
6lgl11| F—F /13— 54.0 @ 1/2) 1) |BE
L:7I7V—h B:TUYLLT 1 — BALBRS
[ #HER : -5- — 7 (#a18)
Syl lzua—vm i 3 bt 1.(1‘3.9 4-5-4 | 41.8 9 ;1_255;
LBALINT Ry IR BXLTTEyY
o TR o3 | SEHEMK 1:19.2 9-8-8 |41.4| — 8 466 | 1E2ARTh (faE)
glg|12| NT—ARTL H— 56.0 (1 1/2) (-11) | EEADE §
R:TUHA XTI R BNT—T)L&R AE A
S S 3 | HEREZ 1:19.5 10-10-11 [41.1| — 11 409 | EHB (a4
ol7|10| T FZH 2= w3 172 G s
L:THAFUSv—I BRAT vy 70— TS
S = . BERRE :19. -8~ . — EOER (E)
10 4| T35 T7—0 4 3 ke 1(119)7 8-8-8 | 41.9 12 (4+363) sl
XTIy U84 K FB:ayayIT—2 ®l BE—
= s 3 | EmAdlsE 1:20.0 6-12-12 | 41.4| — 10 437 | NIBE— (#848)
1 2 ZA¥—h2=7X 54.0 (1 1/2) (-2) K
L:FIU—b BasghTUCEZR sl B
3 | AHEE — 1-0-2 = — 6 469 | 1EEEEAL (fnfE)
x| 5|6 | AT by—Ib s 54.0 (chiE) (g |/IEAmE :
RiL¥15—A>N— B:xA1/94 ILA%5
@ 1—F—@&BIEf
13—7—
20—F— (3,6),8,(1,9),2,11,4,12,10,7,5
33—+— |[3,6,(8,9,1,11,7,(4,12),10,5,2
43—+ — 3,(6,9),1,8,7,11,(4,12) ,5,10,2
[ RN
B OB 3 1609 714K 3-9 220M e & 3-7 560M &R 3-8-9 1,950M
8 B 3 110 3-8 5004 B 3-7 770M JEH 3-9-8 4,330
9 1704 8-9 960M B E 3-9 520
8 240M B H 3-9 660M

ABICOVWTRDTEEERROODE. TR LIV,




